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Match #29


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, Adam Fine and Dan Goff are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1. 
Four stags named Dain, Dvalin (dwah-LEEN), Durathror (doo-RAH-thror), and Duneyr (doo-NAIR) live here, while the eagle Vidofnir (vih-dawf-NEER) can be found on its very top.  Three wells:  one in Niflheim (nih-fel-HIME) gnawed at by Nidhogg, one in Jotunheim (yoh-toon-HIME) where Mimir lived, and one in Asgard where the Norns resided, lie at its roots. What World Tree in Norse mythology is also the home of the squirrel Ratatosk (rah-tah-TAWSK)?


ANSWER:  Yggdrasil (IG-drah-sil)

2.
The main characters in this play have a habit of avoiding unwanted obligations by creating fictional friends and relatives to visit. By the end of the play, John will marry Gwendolyn and Algernon will marry Cecily. In what Oscar Wilde play does Algernon learn the important fact that John is not really named John? 

ANSWER: The Importance of Being Earnest
3.
He married the French princess Henrietta Maria, starting a series of arguments with Parliament. For eleven years, he avoided the issue by simply not calling Parliament. After losing to the rebellious Scots, he had no choice but to call another Parliament. This may have been a mistake, as this Parliament openly rebelled against him. On January 30, 1649, the Rump Parliament ordered the execution of what English king? 

ANSWER: Charles I
4.
One of these two homophones can mean either to restrain something, such as curiosity, or a harness consisting of a bit, headstall and reins, used to guide a horse. What word can also refer to something relating to a woman who is being married?

ANSWER: bridle or bridal
5.
Lovaxin (loh-VOK-sin) C and Gardasil are vaccines for what widespread STD said to cause cervical cancer?

ANSWER:
HPV or human papillomavirus
6.
The protagonist of this novel serves under Ship’s Sergeant Charles Zim in boot camp, and then under Lieutenant Rasczak. By the last chapter, he is in command of a platoon of Terran Mobile Infantry. The Battle of Klendathu and the destruction of Buenos Aires are disasters for humanity in this novel. What novel by Robert Heinlein is about Juan Rico fighting in wars against the “Skinnies” and the “Bugs”? 

ANSWER: Starship Troopers
7.
In Galatians chapter 4, verse 25, Paul suggests its location is in Arabia. Its exact location is unknown, but Elijah the prophet stayed for forty days in a cave on its slopes. Also called Mount **Horeb (HOR-eb), what mountain that Moses ascended in chapter 19 of Exodus to receive the Ten Commandments shares its name with a peninsula between Israel and Egypt?

ANSWER: Mount Sinai (accept Mount Horeb before the **)

8.
THIS IS A COMPUTATION QUESTION. What is the molecular mass of ethanol which has formula H6C2O?

ANSWER:
46
9.
What type of conic section is the equation x squared over 64 plus y squared over 81 equals 1?

ANSWER:
ellipse
10.
In 1918, his wife discovered his affair with Lucy Mercer and threatened to divorce. In 1921, he contracted Guillan-Barré (GHEE-lawn bar-RAY) syndrome, leading to his purchasing property around Warm Springs, Georgia. He established a home in Hyde Park, New York, and had six children with his wife, Eleanor. What President, featured on the dime, guided the country through the Depression and World War II?

ANSWER: Franklin Delano Roosevelt (accept “FDR”)

11.
Hideo Nomo threw the only no-hitter here in its 14-year history.  While most of the seats are dark green, two orange seats commemorate Eddie Murray’s 500th home run and Cal Ripken 278th homer as a shortstop.  Boog Powell’s Barbecue Stand is located at which ballpark, the home of the baseball team in Baltimore?


ANSWER:  Oriole Park at Camden Yards (accept either)

12.
This even-toed ungulate’s milk is more nutritious than a cow’s milk and was first domesticated about 5000 years ago.  Name this humped animal whose Bactrian and Dromedary types are usually found in the desert.

ANSWER:
camel
13.
He sent out an officer, Satapes (sah-TAH-peez), to sail around Africa. In 465 BC, after years of intrigue with his harem and his eunuchs, he was assassinated. Earlier in his reign, he took away the golden statue of Marduk from Babylon. What Persian Emperor seemed unstoppable until defeats at Plataea (plah-TAY-uh) and Salamis stopped him?

ANSWER: Xerxes I

14.
At the end of this story, the magician’s younger brother pretends to be the holy woman Fatima, but is killed by the hero. The magician had managed to transport the hero’s palace, with the Sultan’s daughter inside, to Africa but was outwitted with the help of the genie of the ring. What The Thousand and One Nights story is about a boy, his magic lamp and the genie in the lamp?

ANSWER: Aladdin
15.
In 1724, one theory holds that this German scientist used an inaccurate measurement of his own body and that of a mixture of water, salt and ice as the 100 and 0 points of his scale. What thermometer maker’s scale do Americans still use today instead of the Celsius?

ANSWER: Daniel Gabriel Fahrenheit
Second period, 10 directed questions per team, 10 points each
Set A questions have an “A” after their number; set B questions have a “B.” 

1A.
Considering the structure of its clauses and the use of conjunctions, which of the three types of sentence is the sentence, “My team will win this match, and we will be in first place”? 

ANSWER: compound
1B.
Name either of the two wives of Napoleon Bonaparte.

ANSWER: Josephine or Marie-Louise (accept Maria Luisa)

2A. 
What mineral-like rock looks like glass because of its high silicon dioxide content and is formed by rapidly cooling lava?

ANSWER: obsidian
2B.
On March 4, 1974, Actress Mia Farrow appeared on the cover of the first issue of what entertainment magazine published by Time Inc.?

ANSWER:  People magazine

3A.
What intern had her brief relationship with President Clinton detailed in the 1998 report of Special Prosecutor Ken Starr?

ANSWER: Monica Lewinsky
3B.
What novel by Chuck Pahlaniuk (pah-LAN-ee-ook) has the characters Marla Singer and Tyler Durden, and was made into a 1999 movie?

ANSWER: “Fight Club”

4A.
THIS IS A COMPUTATION QUESTION. What is the remainder when 2345 is divided by 17?

ANSWER:
16
4B.
What symbol is used in C and C++ to represent the modulus operation?
ANSWER: % -- the percent sign (or percentage sign)
5A.
The Episcopal Church in the US is part of what larger organization led by the Archbishop of Canterbury that also contains the Church of England?

ANSWER: Anglican Communion or Church 

5B.
What four letter word is used in binomial multiplication to represent the order in which terms should be multiplied?

ANSWER:
FOIL (first, outer, inner, last)

6A.
What completes this couplet by Joyce Kilmer: “I think that I shall never see / a poem as lovely as a (BLANK)”? 

ANSWER: tree 

6B.
THIS IS A COMPUTATION QUESTION. Solve for x and y.  6x minus 11y equals negative 7 and 4x minus 3y equals 17.

ANSWER:
x equals 8 and y equals 5 (either order is acceptable)

7A.
THIS IS A COMPUTATION QUESTION. What is the perimeter of a square wIth a diagonal of 14 radical 2 feet?

ANSWER:
56 feet
7B.
Henry Paulson was nominated and confirmed to succeed what former CSX Chairman as Secretary of the Treasury?

ANSWER: John Snow
8A.
What type of market has a few firms providing the supply of a good?

ANSWER: oligopoly
8B.
What treaty, signed in 1783, ended the American Revolutionary War?

ANSWER: Treaty of Paris
9A.
What element with atomic number 100 is named after an Italian physicist?

ANSWER:
fermium
9B.
What taxonomic category comes between class and family?

ANSWER:
order
10A.
Which famous Soviet ballet dancer defected to the West in 1961, and went on to star in Swan Lake and Giselle with Margot Fonteyn before succumbing to AIDS in 1993?


ANSWER:  Rudolf Nureyev
10B.
For regular French verbs whose infinitives end in –ir and –re, what letter ends the third-person singular in the present indicative?

ANSWER: t
Third period, 15 toss-ups, 10 points each

1. 
His first acting role was as an extra in Christina Aguilera’s video “What a Girl Wants.”  A year on the soap opera “One Life to Live” followed, but he was still a relative unknown when director Bryan Singer casted him in the title role of a 2006 summer blockbuster.  Who is this actor, the Man of Steel in “Superman Returns”?

ANSWER:  Brandon Routh  

2.
During the first week of this battle, Allied troops landed in Sicily, distracting German attention. Operation Citadel failed, albeit at a giant price – some 600,000 Soviet casualties. The Soviets were able to cross the Dnieper (duh-NEE-per) two weeks later, permanently seizing the initiative from the Germans. The largest tank battle in history was what summer 1943 battle on World War II’s Eastern Front? 

ANSWER: Battle of Kursk
3.
A quotient is the result of what arithmetic operation?

ANSWER:
division
4.
Proton donor and proton acceptor are whose definitions of acids and bases?

ANSWER:
Johannes Bronsted and/or Thomas Lowry
5.
Quakers refer to this five-letter word as the guiding spirit within each person. As an adjective, it can refer to something of little importance, such as chatter, or something not designed to carry much weight, such as a truck. What did God create during the first day of Creation and then separate from the dark? 

ANSWER: light
6.
This philosopher said, “The better is the enemy of the good,” “All murderers are punished unless they kill in large numbers and to the sound of trumpets,” “Neither Holy, nor Roman, nor Empire” and “If God did not exist, it would be necessary to invent Him.” What French philosopher, however, did not say, “I disapprove of what you say, but I will defend to the death your right to say it”? 

ANSWER: Voltaire or Francois-Marie Arouet
7.
The Yupik who live near this river call it “large stream.” Its name comes from the Gwich’in word for “great river.” It starts at the north end of Marsh Lake in Canada and empties into the Bering Sea. What river is the namesake for the Canadian territory to the east of Alaska? 

ANSWER: Yukon River

8.
Its species name is Camelopardalis (kah-mel-loh-PAR-dah-liss) and its closest relative is the okapi. Its blood pressure is twice the norm for a mammal of its weight, since its heart has to circulate blood over a very large area. Name this African mammal known for its long legs, tongue, and neck.

ANSWER:
giraffe
9. 
A Nobel Peace Prize winner in 1990, he made comments in July saying that while his country had "made some mistakes," he also said that Americans "have a severe disease."  An advisor for Vladimir Putin is what man, former General Secretary of the Soviet Communist Party whom President Reagan ordered to "tear down this wall"?

ANSWER: Mikhail Gorbachev
10.
In several South Pacific countries, the CFP variety is used, and in African countries, the CFA variety is used. It had been used in Belgium and Luxembourg before the introduction of the Euro. What unit of currency is still used in Switzerland but was most often seen in France?

ANSWER: franc
11 
This show’s main family came from a town called Bugtussle in the Ozark Mountains.  Pearl Bodine (boh-DEEN), the mother, appeared in the first season, and characters included grandma Daisy Moses, cousin Jethro, daughter Elly May, and father Jed, player by Buddy Ebsen.  What 1960s hit TV show featured the Clampett family? 

ANSWER:  The Beverly Hillbillies 

12.
Both the Ridge & Valley and Coastal Plain regions of Virginia contain primarily this type of rock.  Clay and shale are examples of what main category of rocks, created by transport, compaction, weathering and deposition?

ANSWER: Sedimentary
13.
This poem expresses hope in the line, “Oh, I kept the first for another day!” The narrator, however, realizes that, “I doubted if I should ever come back,” and that “I shall be telling this with a sigh / Somewhere ages and ages hence.” The choice is laid out in the opening: “Two roads diverged in a yellow wood” What poem’s close, “I took the one less traveled by, / And that has made all the difference,” was penned by Robert Frost?

ANSWER: “The Road Not Taken”

14. 
This band formed in Massachusetts in 1995; only four thousand copies of its debut album, Tormented, were printed.  Fred Durst co-produced 1999’s Dysfunction, but it was their third album, 2001’s Breaking The Cycle, that featured the #1 hit “It’s Been Awhile”.  Name this alt-metal group that also scored hits with “So Far Away” and “Right Here”.

ANSWER:  Staind
15.
After this battle, Brigadier General Alfred Terry came under fire for being late on the scene. During this battle, two detachments led by Marcus Reno and Frederick Benteen were only a few miles away, but did nothing. The 7th Cavalry was beaten by the Cheyenne, Lakota and Arapahoe (ah-rap-uh-HOH) at what battle, fought on June 26, 1876, that featured “Custer’s Last Stand”? 

ANSWER: Battle of Little Big Horn (prompt on “Custer’s Last Stand”)
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
The title character, Erik, traveled with gypsies and lived in Persia and Constantinople before helping build the Palais (pah-LAY) Garnier (gar-nee-AYR) and taking residence under it. A love triangle involving him, the Viscount (VIGH-count) Raoul and aspiring opera singer Christine Daaé (dah-AY) forms the plot of what novel by Gaston Leroux, in which the title character wears a mask to cover his deformed face? 

ANSWER: The Phantom of the Opera
2. 
Minotaurs could often be found in this artist’s later work, which was of a more Surrealist nature.  Checkered harlequins appear in his early paintings, such as Family of Saltimbanques (sal-TEEM-bank), during his Rose Period.  Name this Spaniard, the co-founder of Cubism with French painter Georges Braque.

ANSWER:  Pablo Picasso
3.
Tensile strength divided by tensile strain is the definition of what modulus abbreviated Y?

ANSWER:
Young’s modulus

4.
This city is located on Salsette Island and has a population of close to 13 million. When the British East India company moved its headquarters there in 1687, its population mushroomed. Today, it is the home of India’s largest stock exchange and the Indian film industry. What city in the 1970s overtook Calcutta as India’s most populous?

ANSWER: Bombay, India or Mumbai (moom-BUY)

5.
THIS IS A COMPUTATION QUESTION. Convert .4375 into a fraction of simplest terms.

ANSWER:
7/16
All questions ©2006 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

